
 

 

ITI Computer Operator and Programming Assistant (Java) 1st 
Year Module 3 Introduction to the booting process 

 
(1). What is the purpose of Nero Start Smart? | Űेक ːेटमŐट ______ लूप से बाहर िनकलने का 
कारण बनता है। 

(A)   Format HDD | innermost 

(B)   Burn CD/DVD | outermost 

(C)   Format pen drive | break statement causes an exit from program 

(D)   Format CD/DVD | depends on program 

Correct Answer : B 

 

(2). What is the capacity of typical DVD? | ˢŝिपत संƥाओ ंके साथ आउटपुट िŮंट करने के 
कौन से तरीके? 

(A)   40 MB | formatted() 

(B)   50 MB | print() 

(C)   60 MB | println() 

(D)   4.7 GB | printf() 

Correct Answer : D 

 

(3). Statistical analysis packages have much in common with ____ | कौन सा कथन लूप को 
तुरंत लूप के अगले पुनरावृिȅ पर ले जाने का कारण बनता है? 

(A)   presentation packages | एİƪट 

(B)   spreadsheet packages | Űेक 

(C)   design packages | कंिटɊू 

(D)   paint packages | जंप 

Correct Answer : B 

 



 

 

(4). What should be done after fixing a problem or installing a new application or making 
configuration in a computer? | िकसी सम˟ा को ठीक करने या कोई नया एİɘकेशन इंːॉल 
करने या कंɗूटर मŐ कॉİ̢फ़गरेशन बनाने के बाद Ɛा करना चािहए? 

(A)   Hibernate | हाइबरनेट 

(B)   Shutdown | शटडाउन 

(C)   Sleep | ˠीप 

(D)   Restart | रीːाटŊ  

Correct Answer : D 

 

(5). Which port is use to connect monitor? | जावा ŮोŤािमंग भाषा मŐ एक __________ लूप 
ːेटमŐट एक लƙ ːेटमŐट को बार-बार िन˃ािदत करता है जब तक िक दी गई İ̾थित सȑ है। 

(A)   PS2 | for 

(B)   USB | for-each 

(C)   LAN | while 

(D)   VGA | do-while 

Correct Answer : D 

 

(6). What is BIOS? | कौन सी िविध एक İ Ōːंग लौटाती है जो िनिदŊʼ सरणी मŐ वणŊ अनुŢम का 
Ůितिनिधȕ करती है? 

(A)   Firmware | Int compareToIgnoreCase(String str) 

(B)   Hardware | String concat(String str) 

(C)   Middleware | Boolean contentEquals(StringBuffer s 

(D)   Software | Static String copyValueOf(char[] dat 

Correct Answer : A 

 

(7). Which software interface the major hardware components of the computer with OS? | 
जावा ऐरे ______ आवंिटत कर सकता है। 

(A)   BIOS | dynamic memory 



 

 

(B)   DOS | static memory 

(C)   POST | heap memory 

(D)   CMOS | cache memory 

Correct Answer : A 

 

(8). Which system is used by Bluetooth for broad casting? | लूप घोषणा के िलए िनɻिलİखत मŐ 
से कौन सा माɊ नही ंहै? 

(A)   Satellite | For ( int i = 99; i >= 0; i / 9 ) 

(B)   Microwaves | For ( int i = 7; i <= 77; i += 7 ) 

(C)   Telephone lines | For ( int i = 20; i >= 2; - -i ) 

(D)   Radio waves | For ( int i = 2; i <= 20; i = 2* i ) 

Correct Answer : D 

 

(9). Which virus infects the important files of application software? | नीचे िदए गए ि˘पेट के 
आउटपुट के िलए इनमŐ से कौन सा आवʴक है? सरणी आरंभीकरण के समय िनिदŊʼ करŐ? 
Object[] names = new String[3]; names[0] = new Integer(0); 

(A)   Macro Virus | ArrayIndexOutOfBoundsException 

(B)   Trojan Virus | ArrayStoreException 

(C)   Worm Virus | Compilation Error 

(D)   Anti Virus | Code runs successfully 

Correct Answer : A 

 

(10). What is the process of deleting all the data on the hard drive? | वेįरएबल ഼a഼ को िŮंट 
करने के िलए वैध डेटा Ůकार Ɛा है? ഼Hello World഼? switch(a) { System.out.println(഼Hello 
World഼); } 

(A)   Delete | Int and float 

(B)   Erase | Byte and short 

(C)   Formatting | Char and long 



 

 

(D)   Uninstall | Byte and char 

Correct Answer : C 

 

 

 


